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Answers

1. 2,303

2. 2,024

3. 612

4. 481

5. 1,224

6. 800

Use the array provided to solve each problem.

1) 47×49 =

40

40

7

(40 × 40)
1,600

(7 × 40)
280

(7 × 9)
63

9

(40 × 9)
360

2) 44×46 =

40

40

4

(40 × 40)
1,600

(4 × 40)
160

(4 × 6)
24

6

(40 × 6)
240

3) 36×17 =

30

10

6

(30 × 10)
300

(6 × 10)
60

(6 × 7)
42

7

(30 × 7)
210

4) 37×13 =

30

10

7

(30 × 10)
300

(7 × 10)
70

(7 × 3)
21

3

(30 × 3)
90

5) 36×34 =

30

30

6

(30 × 30)
900

(6 × 30)
180

(6 × 4)
24

4

(30 × 4)
120

6) 32×25 =

30

20

2

(30 × 20)
600

(2 × 20)
40

(2 × 5)
10

5

(30 × 5)
150
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